Monroe County School District Bid Review Committee - Ranking RFP 2016624 TRMS LED Lighting Retrofit

Monday, May 9, 2016

Securing Bids: Jessica Bailey, Buyer

	<b>Check Electric</b>	<b>Check Electric Option</b>		Electrical	<b>Check Electric</b>
	<b>Option Techline</b>	Musco	Floria Keys Electric	<b>Contracting Services</b>	<b>Option Qualite</b>
Committee Member #1	95	85	75	90	not ranked
Committee Member #2	100	88	80	80	0
Committee Member #3	100	75	60	75	25
Committee Member #4	85	70	65	70	not ranked
Committee Member #5	85	85	75	85	not ranked
Committee Member #6					
Committee Member #7					
TOTALS:	465	403	355	400	25
				1	

**PLACE:** 1 2 4 3 5

BID/QUOTE NO. RFP 2016624 TRMS LED Lighting Retrofit

OPENING/PRESENTATIONS: 5/9/2016 9:00 AM SECURING BIDS/QUOTES: Jessica Bailey, Buyer

Vendor Name:	Price (20 max)	Proposal Document and Scope (20 max)	Presentation (20 max)	Guaranteed Delivery Date (10 max)	Quality Shown on Similar Jobs (10 max)	Warranty (10 max)	No Cost Features that Exceed Base Requirements (10 max)	Total Points: (100 max)	Comments
Elec. Contracting Services Inc.	20	15	20	10	10	ľO	5	90	
Check Elec. LCC Tech	20	20	20	10	5	10	10	95	Based on Opt 2 Techline
ms to	20	15	20	10	5	10	5	85	Based on Opt 2 Techline Based on Opt 3 Musco
FL Keys Elec Inc	10	15	20	ιΟ	5	10	5	75	

BID/QUOTE NO. RFP 2016624 TRMS LED Lighting Retrofit

OPENING/PRESENTATIONS: 5/9/2016 9:00 AM SECURING BIDS/QUOTES: Jessica Bailey, Buyer

Vendor Name:	Price (20 max)	Proposal Document and Scope (20 max)	Presentation (20 max)	Guaranteed Delivery Date (10 max)	Quality Shown on Similar Jobs (10 max)	Warranty (10 max)	No Cost Features that Exceed Base Requirements (10 max)	Total Points: (100 max)	Comments
Electrical Contractors	!	15	15	10	10	10	5	80	
OPTION #1	0	0	0	0)	0	0	0	0	
Check Electricity	18	20	20	18	10	18	10	100	Tech Live museo
Florida Keys Elect.		20	1,5	10	10	10	5	<b>8</b> 0	

Printed Name of Committee Member: MICHAPL Skeed Signature of Committee Member Tabulation Sheet is submitted in accordance with MCSD Policy 6320.

BID/QUOTE NO. RFP 2016624 TRMS LED Lighting Retrofit

OPENING/PRESENTATIONS: 5/9/2016 9:00 AM SECURING BIDS/QUOTES: Jessica Bailey, Buyer

Vendor Name:		Price (20 max)	Proposal Document and Scope (20 max)	Presentation (20 max)	Guaranteed Delivery Date (10 max)	Quality Shown on Similar Jobs (10 max)	Warranty (10 max)	No Cost Features that Exceed Base Requirements (10 max)	Total Points: (100 max)	Comments	
ELECTICICAL CONTRACTING SERVICE		10	15	20	20	100			75		
CHELL ELEGIZIC	A-(	10	0	0	0	3 5 U	10		25	HAD BETTER OPTIONS  HAN MUSCO & MUSCO had  LOWER BASE PRICE BUT NO BUSCOTT +	L Co Horacon
	M	20	20	20	1012	tour	10	10	100	HAD BETTER OPTIONS	
	<i>≯</i> 3	15	10	20	104	104	10		75	LOWER BASE PRICE BUT NO BUSGET +	Disnata
FL KOYS ENERTRIC		5	15	10	104	to	10		40		

Printed Name of Committee Member: Law Duko Signature of Committee Member: \*I hereby acknowledge that the above Tabulation Sheet is submitted in accordance with MCSD Policy 6320.

BID/QUOTE NO. RFP 2016624 TRMS LED Lighting Retrofit

OPENING/PRESENTATIONS: 5/9/2016 9:00 AM SECURING BIDS/QUOTES: Jessica Bailey, Buyer

Vendor Name:	Price (20 max)	Proposal Document and Scope (20 max)	Presentation (20 max)	Guaranteed Delivery Date (10 max)	Quality Shown on Similar Jobs (10 max)	Warranty (10 max)	No Cost Features that Exceed Base Requirements (10 max)	Total Points: (100 max)	Comments
Check Electric #2	15	20	10	10	10	10	P	85	
Check Electric #3	10	20	15	10	5	10	. 0	70	
Electrical Contractors	10	20	15	10	5	10	0	70	
Florida KEYI Electric	5	20	15	10	5	10	0	65	

Printed Name of Committee Member: Dale Finisan
Signature of Committee Member:
\*I hereby acknowledge that the above Tabulation Sheet is submitted in accordance with MCSD Policy 6320.

BID/QUOTE NO. RFP 2016624 TRMS LED Lighting Retrofit

OPENING/PRESENTATIONS: 5/9/2016 9:00 AM SECURING BIDS/QUOTES: Jessica Bailey, Buyer

Vendor Name:	Price (20 max)	Proposal Document and Scope (20 max)	Presentation (20 max)	Guaranteed Delivery Date (10 max)	Quality Shown on Similar Jobs (10 max)	Warranty (10 max)	No Cost Features that Exceed Base Requirements (10 max)	Total Points: (100 max)	Comments
(Trentine) Check Electric #2	20	15	10	10	10	10	10	85	
(Musco) Check Electric #3	19	25	15	10	10	10	10	85	
FL Keys Electric	5	15	15	10	10	10	10	75	
Electrical Contracting	10	10	15	10	10	10	10	85	
								<del> </del>	

Printed Name of Committee Member: New Jackson
Signature of Committee Member: New Jackson
\*I hereby acknowledge that the above Tabulation Sheet is submitted in accordance with MCSD Policy 6320.